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Total No. of questions: 80 Time allowed: 80 minutes 
Each question carries one mark. 

First Section General English 

1) In the following question, the first word is 
givcn in capital letters followed by four alternative 
words. Select from the alternatives the word nearest in 
meaning to the word given in capital letters, 
ACQUIESCE 
(A) watery [ J (B) something liquid [ 
(C) tacit consent [ ] (D) to know someone [ .1 

2) The following question has three words which are 
meanings of a certain word. Select that word from the given 
answer choices. 
absolve, acquit, vindicate 
(A) banish [ J (B) exonerate [ 
(C) subsist [ ] (D) resist [ 

3) In the following question, the first word is 
given in capital letters followed by four options, one 
amongst which is the correct antonym of the word in 
capital letters. You have to identify the antonym. 
INDICT 
(A) exonerate [ ] (B) cross-examine [ ] 
(C) prevail [ ] (D) respond [ j 

4) In the following question four alternatives arc 
given for the idiom/phrase. Choose the one which best 
expresses the meaning of the idiom/phrase. 
A fool's paradise means 
(A) a foolish idea [ I 
(B) an imaginary idea 
(C) an unexpected gain [ 1 
(D) false hopes for a foolish person [ 

5) Of the four alternatives, choose the one which 
can be substituted for the given sentence: 
The policy of extending a country's power and 
influence is: 

(A) Communism [ ] (B) Capitalism [ I 
(C) Internationalism [ J (D) Imperialism [ 

6) In the following question, a single word has been 
spelt in four different ways, one of which is correct. Choose 
the correctly spelt word. 

(A) eroniously [ ] (B) crronously [ J 

(C) erroneously [ ] (D) erronisoly [ I 

7) Choose the most effective pair of words from 
the given pair of words to make the sentence 
meaningfully complete. 

To  his arguments, the Advocate several 
references. 

(A) vindicate referred [ ] 

8) Choose the correct word from amongst the given 
choices to fill in the blank in the following sentence: 

Beware lest you  slip. 

(A) may [ ] (B) should [ 

(C) will I 1 (D) can [ (B) press announced [ — 
(C) substantiate cited [ 
(D)clarif'----avertcd [ ] 
9) The past participle of the verb slay is: 

(A) slew [ ] (B) slayed [ 

(C) slaid [ ] (D) slain [ ] 

10) The noun for the verb advise is: 

(A) advice [ I (B) advize [ I 

(C) advised [ ] (D) adviced [ I 

11) Choose the correct indirect narration of the 
following direct sentence from the given options: 

Kanti said, "Alas! how unfortunate I have been." 
(A) Kanti expressed that he has been unfortunatc.[ j 

(B) Kanti expressed his sorrow because he had been 
very unfortunate. [ I 
(C) Kanti exclaimed with sorrow that he had been very 

f 
(D) Kanti exclaimed with sorrow that he had been 
unfortunate. [ ] 

12) Choose the correct indirect narration of the 
following direct sentence from the given options: 
I said to Altaf, "Do you know anything about this matter?" 

(A) I asked Altaf if he knew anything about that matter. 

(B) I told Altaf whether he knows anything about this matter. [ I 

(C) I asked Altaf If he knew anything about this matter. [ 

(D) I enquired from Altaf if he had known anything about 

13) Choose the option with the correct gerund for 
the to-infinitive in the given sentence: 

lie likes to advise his children. 

(A) He is liking to advice his children. [ J 
(B) He likes advising his children. [ 

(C) He likes to advising his children. II 1 

(D) He likes advicing his children. [ ] 

14) Choose the sentence with the correct use of 
punctuation marks: 

(A) Everything grows old; everything passes away; 
everything disappears. [ J 

(B) Everything grows old; everything passes away, 
everything disappears. 

(C) Everything grows old, everything passes away; 
everything disappears. [ 

(D) Everything grows old, everything passes away, 
everything disappears. [ 
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15) Which one of the following sentences is 
grammatically correct? 

(A) The Judge is hearing this case for four months. [ 
(B) The Judge has been hearing this case since four 
months. [ J 

(C) The Judge has been hearing this case for four 
months. [ } 
(D) The Judge is hearing this case since four months. [ I 

16) Fill in the blank with the correct option. 
The teacher must the unique style of a learner in 
order to it to the desired knowledge. 

(A) advocate — direct (I (B) perpetuate — develop [] 

(C) discover — harness [I (D) appreciate — focus [I 

17) In the following question the first word is 
given in capital letters followed by four options, one 
amongst which is the correct antonym of the word in 
capital letters. You have to identify the antonym. 

NUGATORY 
(A) Trifling [ ] (B) Profitable [ 
(C) Abundance [ ] (D) Important [ 

18) In the following question choose the correct 
meaning of the idiom given below: 

"Led by the nose" 
(A) To control someone [ 
(B) To lead to the right path [ 

(C) To mind one's own business [ J 
(D) To be indifferent to the surroundings [ J 

19) Obdurate means 

(A) Something which is durable [I 
(B) Overrated adviccs [I 
(C) Stubborn refusal to change [] 
(D) Having an low opinion about everybody [] 

20) A person who brings goods illegally into the 
country is called: 
(A) Importer [] (B) Smuggler [ ] 

(C) Impostor [ (D) Fraud [I 

21) Fill in the blank with the correct word in the 
following sentence: 

Walking on the beach, wc 
strange bird. 
(A) Catch [ ] (B) Catching 

(C) Caught [ ] (D) Catched [ 

22) Which of the following words is correctly spelled: 

(A) Amelcorate [ ] (B) Ameliorate [ 

(C) Amiliorate [ I (D) Amelirate [ ] 

sight of a 

23 The past participle tense of eat is: 

(A) Eat [ ] (B) Ate [] 

(C) Eated [ ] (I)) Eaten 

24) Fill in the blanks with the correct words in the 
following sentence: 

My to you is that you should 
the social distancing in pandemic. 

(A) advise — adapt [ ] (B) advise — adopt [ J 

(C) advice — adapt [ ] (D) advice — adopt [ 

yourself to 

25) 

(A) 

(C) 

The plural of counsel is: 

counsel [ j (B) counsels [ 
councills [ ] (D) counseles [ I 

26) Which of the following words has the same 
meaning as "veer" 
(A) A crossing [ ] (B) Underneath [ 
(C) Brave [I (D) Turn [ 

27) Which of the following is the correct 
sentence: 
(A) He wrote the book in a month's time. [ 
(B) He written the book in a month's time. [ ] 
(C) Fle wrote the book in a month. [ I 
(D) None of the above. [ J 

28) The comparative for the word "Bad" is: 

(A) Worst [ } (B) Worse 

(C) Worsen [ } (D) Baddest 

30) Which of the following sentences is correct: 

(A) He agreed on my demand. [ I 
(B) He agreed to my demand. [ I 
(C) He agreed with my demand. [ 
(D) He agreed for my demand. 1 1  

29) Parched means: 

(A) Very depressed [ J (B) Very elated 

(C)Verydry [ ] (D) Very strange [ 

Second Section General Knowledge:  

31) Who among the following won the gold medal 
for weightlifting in Commonwealth Games 2018? 

A) Heena Sindhu [ I B) Sushil Kumar [ ] 

C) Saikhom Mirabai Chanu [ ] D) Neeraj Chopra [ ] 

32) Who is the author of the book 'the White Mughals? 

A) R.K. Narayan [ J B) Paulo Coelho [ 

C) Mulk Raj Anand [ ] D) William Dalrymple [ I 

33) When did battle of Plassey take place? 

A) 1757 [ ] B) 1526 [ I 

C) 1761 [ ] D) 1589 [ I 

34) When is the Human Rights Day celebrated? 

A) 9th  of May [ I B) 13th of July [ 

C) 7th of April [ J D) 10ih  of December [ 

35) Who is the Lt. Governor of Union Territory of 
Ladakh? 

A) R.K.Mathur [ ] 
B) Girish Chandra Murmu [ I 

C) Umang Narula [ ] 
D) Satyapal Malik [ ] 

36) Nordic Countries mean: 

(A) Counties in Northern Europe and Northern Atlantic 

(B) Countries in Northern Africa [ I 

(C) Countries in Northern Hemisphere [ 

(D) Countries north to the South Pole [ I 



43) 

(A) 

(C) 

French Revolution took place in: 

1799 [1 (B) 1899 [1 
1693 [1 (D) 185711 

11 

(A) Kings XI Punjab [ ] 
(B) Delhi Capitals [ ] 
(C) Kolkata Knight Riders [ ] 
(D) Royal Challengers Bangalore 

(B) Man Vs. Wild 

(D) Survivorman [ J 

(A) Man in the Wild [ 

(C) Dual Survival [ ] 

54) 

(A) 

(C) 

The currency of France is: 

Ruble [ ] (B) Franc [ I 
Pound [ ] (D) Peseta 1 1 

[1 
[I 
[I 

57) OLED means: 

(A) Old Light Emitting Diode 

(B) Organic Light Emitting Diode 

(C) Original Light Emitting Diode 

(D) Optimised Light Emitting Diode 

Milky Way is: 
The galaxy nearest to the galaxy which contains 
Earth.[ ] 

The galaxy in which the Earth is situated. [ I 
Nebulous structure situated in our galaxy. [ ] 
A constellation in our galaxy [ 

38) The first Vaccine for Coronavirus, which has 
caused the Covid-19 Pandemic, claimed to have been 
developed by Russia is known as: 

(A) ZyCoV-D [ ] (B) Influvac Tetra [ 
(C) Covaxin [ J (D) Sputnik V [ 

39) Late Mr. Milkha.Singh was awarded: 

(A) Bharat Ratna [ ] (B) Padma Vibhushan [ 

(C) Padma Bhushan [ J (D) Padma Shri [ I 

40) Who among the following has won Nobel Prize in 
Physics in the ycar 2020: 

(A) Neil deGrasse Tyson [ } (B) Roger Penrose 
(C) Brian Greene [ ] (D) Both (B) and (C) [ I 

41) Hair is made of the same substance as: 
(A) Teeth [ I (B) Tongue 
(C) Finger Nail [ ] (D) Cartilage [ 

45) Who was the first person to climb the Mount 
Iverest: 

(A) Neil Armstrong [ ] (B) Yuri Gagarin [ ] 
(C) Tenzing Norgay [I (D) Lino Lacedilli [ ] 

47) 2020 is written in Roman numerical as: 

42) The capital of Nigeria is: 

(A) Bamako [1 (13) Abuja 

(C) Lome [1 (D) Cairo [1  
44) Who is the first Indian lyricist to win Oscar: 
(A) Javed Akhtar [ ] (B) Anand Bakshi [ j 
(C) Irshad Kamil [ ] (D) Guizar [ ] 

46) Full form of GST is: 

(A) Goods Sales Tax [ 
(B) Goods and Service Tax [ I 
(C) Generalised Service Tax [ J 
(D) Gross Sales Tax 1 1  
48) Shahrukh Khan owns which of the following IPL 
teams: 

(A) MXX 

(C) MM 
[I (B) MIXX[J 

[] (D) MMXX[J 

49) Which Indian politician remained Acting 
Prime Minister of India twice for 13 days each time: 

(A) Gulzarilal Nanda [ J (B) Morarji Desai [ I 
(C) Charan Singh 1 1 (D) H. D. Deve Gowda [ ] 
51) Who is the founder of Amazon? 

(A) Jack Ma [ ] (B) Warren Bufett [ 

(C) Sundar Piehai [ ] (D) Jeff Bezos [ } 

53) The famous play "Romeo and Juliet" was 
written by which of the following: 

(A) Rudyard Kipling [ ] (B) William Shakespeare [I 
(C) Thomas Mann [1(D)  Arthur Conan Doyle [1  
55) Largest country in the world in terms of 
population is: 

(A) India [ j (B) Brazil 

(C) China 1 1 (D) Russia [ 1  
Third Section Basic Concepts of Computer:  

50) Hon'ble Prime Minister, Shri Narendra Damodardas 
Modi, appeared in which reality survival show: 

52) Who amongst the following was the candidate for 
2020 US Elections other than Donald Trump: 

(A) Joe Biden [ I (B) Kamala Harris 

(C) Mike Pence 1 1 (D) Hillary Clinton 1 1  

56) Which is the best programme to open 
spreadsheets on computers? 

A) Word [I (B) Excel [1 
(C) Power Point [ ] (D) Outlook [ I 

58) Which of the following is not a Programming 
Language? 

(A) BASIC [ ] (B) COBOL  [I 
(C) PASCAL [1 (D) TURING [1 

59) JPEG file is: 
(A) Image File [ ] (B) Temporary File [ I 
(C) Text File [ ] (D) Audio File 1 1 

60) The process of turning the computer on and 
making it ready for work is known as: 

(A) Load-up [ ] (B) Upload [ I 
(C) Boot up [ ] (D) Download [ ] 

61) BIOS stands for? 

A) Binary Internal Operating System 

B) Basic Internal Operating System 

C) Binary Input/Output System 

D) Basic Input/Output System 

62) Nibble is equal to 

A) 8bits [ I B) 4bits [ ] 
C) 1 bit [ J D) 1024 bytes [ I 

63) Full form of URL is: 

A) Uniform Resource Locator 
B) Uniform Resource Link 
C) Uniform Registered Link 
D) Unified Resource Link 

37) 
(A) 

(B)  

(C)  
(D)  

3 
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64) Which country provided citizenship to the 
robot Sophia in 2017? 

A) Qatar F 1 13) Abu 1)habi I I 
C) Saudi Arabia I 1 1)) Bahrain I 1 

65) SQL Slammer is a type of? 

A) Operatmg System I B) Antivirus 

C) Virus 1 1 I)) Program File I 

66) What does SGML stand for? 

A) Standard Generalised Mark-up Language [ I 
B) Special Gcneraliscd Mark-up Language [] 

C) Standard (leneric Mark-up Language I 
D) Specific Generic Mark-up Language 

67) Full form of GUI is: 

A) General ised User Interface F I 
B) General Utility Interface I 
C) Guarded User Interface I 
D) Graphical User Interface I I 

68) The shortcut key for 'insert link' is? 

A) CTRL + E I ] B) CTR1; K 

C) Shift fF3 1 1 I)) CTRI. Tab I I 

69) The speed of Central Processing Unit (CPU) is 
measured in: 

A) Pascals 1 1 B) Bytes I I 
C) Quanta [ 1 I)) Hertz I I 

70) Which of the following is used to log on to 
remote computer that is attached to internet? 

A) IRC [ ] B) FTP F I 
C) Telnet 1 1 1)) VoIl' I I 

Fourth Section Job related awareness: 

71) Choose the appropriate word to approximately 
fit in the blank space in the given sentence from 
amongst the choices given below: 

Junior Assistant is the lowest .... official in the 
ministerial cadre of a Service. 

A) rank I ] B) post F I 
C) staff F I I)) menial ( I 

72) In official communications, the abbreviation D. 0. 
stands for: 

A) I)ead Officer I I 13) Dead Official 

C) I)earing Officer I I I)) Dcmi Official F 

73) The head of the Judicial Institution in the 
Union Territory of I.adakh is: 

A) Lt. Governor F ] 13) the Law Secretary ] 

C) Chief Secretary 1 1 I)) Chief Justice I 

74) Choose the right answer from amongst the given 
options to complete the sentence: 

Summons is an order..... 

A) to appear before a law court I 1 
13) to put in Jail I 
C) of sentencing a convict I 
I)) to release an accused I 

75) Choose the right answer from amongst the 
given options to complete the sentence: 

The duty of a government servant is to..... 

A) serve the public 1 1 
B) serve the government in power I I 
C) serve his officer I I 
I)) serve his family I I 

76) how many high Courts are there in the two Union 
Territories of Jammu and Kashmir, and Ladakh? 

A) one [ ] 13) two I 

C) three [ ] I)) Four I I 

77) Fill in the blank space in the following 
sentence with the appropriate word from amongst the 
given four options which approximately fits in. 

A Government servant is expected to maintain a ... 
standard of conduct in his private life. 

(A) reasonable F I (13) sophistic F 1 
(C) pedantic I 1 (1)) impeccable I I 

78) Fill in the blank space in the following sentence 
from amongst the given words: 

Acceptance of gifts by a Government employee in 
lieu of public service is legally a form of 

A) corruption ( ] B) salary [ 
C) aid I 1 I)) incentive F 

79) Choose the correct option: 

Plaintiff is a person who: 

A) is an accused in a criminal case ] 

13) files a civil suit in a civil court F I 
C) is convicted of an offence I J 
D) files a complaint I I 

80) Who amongst the following is the 1'atron-in-Chief 
of the State Legal Services Authority: 

A) IA. Governor I I 
13) Chief Minister I I 
C) Chief Justice [ I 
D) Chief Secretary I I 

-0-0-0-0- 
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Question 
No. 

Answer/Key Question 
No. 

Answer/Key 

1 C 2 B 
3 A 4 D 
5 D 6 C 
7 C 8 B 
9 D 10 A 

11 C 12 A 
13 B 14 A 
15 C 16 C 
17 D 18 A 
19 C 20 B 
21 C 22 B 
23 D 24 C 
25 A 26 P 
27 C 28 B 
29 C 30 B 
31 C 32 P 
33 A 34 P 
35 A 36 A 
37 B 38 P 

39 P 40 B 
41 C 42 B 
43 A 44 P 
45 C 46 B 
47 P 48 C 
49 A 50 B 
51 P 52 A 

1 



53 B 54 B 
55 C 56 B 
57 B 58 D 

59 A 60 C 
61 P 62 B 
63 A 64 C 

65 C 66 A 
67 U 68 B 
69 P 70 C 
71 •A 72 P 

73 P 74 A 

75 A 76 A 

77 A 78 A 

79 B 80 C 
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